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Positional differential gehen."
also involves a limitprocedure.

· NON-ANTICIPATINC (CAUSAL a MARKOVIAN STRATEGIES

Vanaige, Roxin, Elliott-Kalton (1967-Ze)

Det:1.CEvens-Songenials 1984 visco Sole

Notetichs: at: = ( a:[t, T] +Aneas.C).
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y(x) =f(y(s),a[3](e),b(x)) est

S y(t) =x



darte y(x1 =yx(it,a[b],b).

Similary atcy, BEAt g =f(y,a,3[e]).

Pagoff (be 154) -cost (fa 2") functional

J(x,t;e),b(.1)
=[Te(y,),an),b(x)(d +8(24)

DEF. The COWERVALLEofthe D.G. is

VIt,x: = inf sup J(X,t, a,[1]),
SEA acat

2 C+,x: =sup inf JC,t, 4[3], b) .
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a*[b] (s) == S
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y*() =(2* [b](e) - b(n)) =1 e be

=>y*(s) =x +1 -t

2(t, I inf f(y(t)) =f(x +I-+) > g(x)beBt
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=>[aJCe) =1Call) is mohenticip.
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Ruk, Information pattern isnot very exclistic,
butall mare realistic velues e[F,5], so

if2=0 they all coincide.
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· gi"-in, 18126, ISK)-S(x)) =, K-E1.
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-(y,2n
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where y()
=
y(it,a,[eb).

Ult,x=sup inf (Stey),IDE,yattdett bet

y(11 =yx(1;t,2[3],a). M
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thesis:NA, ASTHinf sup WCter,y(t-)

FE> o I de At: Colef. of inf1.
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WIt,1Iinf sun 8(2x;+, [0])) -25
SEAt

acOf
e

V(4,X).

Let 3 ->0 *Set i =V. FE,xB

Estimates onGo

Ihu. 5C dep.or T, ,,2, 3 5.1.

1. I VC, 111, 124, 11 - 4 *, GTe,TJxR"

2. (((,x-V(7,z) = 44) 1-1 +(x-x1)

/217,7) - WCF,I)1- som.

Roofproof:2. (Se)(0 +8/2(+-H22 +4*

<42 +=:44 B

2optional, see Notes.

Isaace' Hamiltonics

44(P):mis (Pof(7,2,)
+f(1,4b)

fiCX,P)! =notmin S sche 5 = HA,4).
acA bEB



Pepe HT, H-: YAR" -IRare continuous andfort:A tout

Ik20:
(41) (FC1P) - FC,p)1-KK -11 + (P)

(p) (FCx, pl-F(x,P) 1 = G1p -Pl

P. 1. (2) fo F=HF CH HW).

H+(E,p) - H+(*,P) = ...

chove bEB!

H+(x,) =n(x(p.f(x,a,b) +e(t,a,b))

② p. f(t, 2,5' +111,95) FOGA.

↓(*,P) =matp.f(,a,b) +e(,6)
Es

↳Sei+e(t, a!,S'

H(2,P) - HTCA,P) = +p.f(x,a!) +e(x, a!s)

<(p14(x - 51 +[(x - 1 =kIX-1) 1+p))

if k==C, V22. Exchange + 4I =

(1) for Ht. B

=(4) HW

3. (4)+(<p) ->cotite ofHTH. BB


